oa4F 2159 do] | A5+ A&
(1) 21.98 cm 7cm
(2) 37.68 cm 12cm
(3)31l.4cm 10 cm
(4) 12.56 cm 4cm
(5 18.84 cm 6 cm

® 3.141 @ 3.1416 ® 3.142

®)3.14 ® 3.1

21.98 = 7, 37.68 = 12, 31.4 = 10,
12.56 =+ 4, 18.84 + 6
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9] 9571 50.24 cm T, o] Y0 WA 52| DolE oA L.

AE) = (95F) +3.14+ 2
=50.24+3.14+ 2 = 8(cm)
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O I9olA Y585 5 L.

Ao HtZE : 3em
QZ 1 3x2x3.14 = 18.84(cm)
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=320, 2547 2240 A= 2 m Y7
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= x3.14

2] 2)%3.14 = 25.12

(BF2] )= 25.12 + 3.14 = 8(cm)
w2bA] Gl 2152 16 cm YUt
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® 10ecm @ 15ecem @ 20cm @ 25cm (@)30(:111

(9] E4)) = 2x(Y2] ¥ 2) x3.14
188.4 = 2x (9] ¥tA]E5)x3.14
e P0] ¥ 22 188.4 + 3.14 + 2 = 30( cm) YU TH.
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[> HEH 25748 cm
To] A g2 F=29] yol)
=(ZF°l 20cm &l ¥9] Hol)—-(¥FAE°] 1em ] ¥9] Hol)x18
=(10x10x3.14) — (1 x1x3.14) x 18
= 314 — 56.52

= 257.48( cm?)




13. Thev2e AR 92 BESUT of 49 Yol Autguzt

25 43.96 + 3.14 + 2 = 7(cm)
yo] 1 7x7x3.14 = 153.86( m?)
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O=157+3.14

0 = 50( cm)
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A v o AR Tog AFe R she 45 W gEy
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